NATIONAL UNIT 3 MATHS
QUALIFICATIONS EXERCISE 2 ADVANCED HIGHER
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aventnat A= > he-|2 T M elt® Nadp-|! 2 find, wh ible:
n " Tl3 0 5177712 1 0:‘=‘1_3a”‘_ ‘=01,n,Werefp083te.

i) A+B (i) A+C (i) C+D  (iv) CA
(v) AB vi) AC  (vi) A'C' (i) C”

Find the set of all 2x2 matrices X'such that X ? = 0. Give one example.

1 -1 1
Use etementary row operations to find the inverse of the matrix | 1 1 2| and hence sotve the
2 -1 2

equations:
@ x-y+z-=1

(i) X+y+2z=0
(iif) 2xX-y+3z=2

By

2 -1 10
fA= (_ _— J and B = (0_ 3), show that the most general 2x2 matrix X suehthat AX = XBis

X
of the form (x Y ) . Hence, find a 2x2 matrix Psuchthat P*AP =B and P'P = |, where | is the

unit 2x2 matrix.

What transformations are represented by the following matrices? lllustrate each transformation by
means of an example.
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Solve for x:



